

$$V = \mathcal{P}_2(\mathbb{R}) \quad \langle p, q \rangle = \int_{-1}^1 p(t)q(t) dt$$

$$S = [t, t^2]$$

Hallar una base de  $S^\perp$

$$B_V = \{1, t, t^2\} \quad \dim V = 3$$

$$V = S \oplus S^\perp$$

$$\Rightarrow \dim V = \dim S + \dim S^\perp \\ \Rightarrow \dim S^\perp = 1$$

$$S^+ : N \in S^+ \iff \langle N, S \rangle = \emptyset$$

$$A \subseteq S \subseteq S$$

$$\emptyset \iff \langle \emptyset, S \rangle = \emptyset \text{ donde}$$

$$\{S_1, S_2\} \xrightarrow{=} S$$

$$\langle \emptyset, \emptyset \rangle = \emptyset$$

$$\langle \emptyset, \emptyset \rangle = \emptyset$$

$$V \in V \quad V = at + bt + ct^2$$

$$\langle at + bt + ct^2, t \rangle = 0$$

$$\int_{-1}^1 (at + bt + ct^2) t \, dA = \int_{-1}^1 at + bt^2 + ct^3$$

$$= at^2 \Big|_{-1}^1 + bt^3 \Big|_{-1}^1 + ct^4 \Big|_{-1}^1 = \frac{2b}{3} = 0 \Rightarrow b = 0$$

$$\underbrace{\langle a + ct^2, t^2 \rangle}_{=} = 0$$

$$\int_{-1}^1 a t^2 + c t^4 dt = \left( a \frac{t^3}{3} + c \frac{t^5}{5} \right) \Big|_{-1}^1$$

$$= \frac{2a}{3} + \frac{2c}{5} = 0$$

$$\Rightarrow \begin{cases} a = -\frac{3c}{5} \end{cases}$$

$$S^+ = \left\{ -\frac{3c}{5} + ct^2 : c \in \mathbb{R} \right\}$$

$$= \left[ -\frac{3}{5} + t^2 \right]$$

$$\mathcal{F}_1(\mathbb{R}) \quad \langle 1, 1-t \rangle$$

$$p_1(t) = 1$$

$$p_2(t) = \frac{1-t - \langle 1-t, 1 \rangle}{\|1-t\|^2}$$

$$\langle 1-t, 1 \rangle = \int_{-1}^1 (1-t) dt = \left[ t - \frac{t^2}{2} \right]_{-1}^1 = 2$$

$$\|v\|^2 = \langle v, v \rangle = \int_{-1}^1 dt = t \Big|_{-1}^1 = 2$$

$$\Rightarrow P_2(t) = 1 - t - \frac{2}{2} \cdot 1 = -t$$

$$\{1, -t\}$$

$$\|1\| = \sqrt{2}$$

$$\|-t\| = ?$$

$$\langle -t, -t \rangle = \int_{-1}^1 t^2 = \frac{t^3}{3} \Big|_{-1}^1 = \frac{2}{3}$$

$$\Rightarrow \| -t \| = \sqrt{\frac{2}{3}}$$

$$\left\} \frac{1}{\sqrt{2}}, -\sqrt{\frac{3}{2}}, 4 \right\}$$



$T$  diag. no mult:  $T^2 = 0$

$\exists B = \{v_1, \dots, v_n\} \Rightarrow \checkmark$  for mode

par vect. prop  $\checkmark$

$$B(T)_{\mathcal{B}} = \begin{pmatrix} \lambda_1 & & 0 \\ & \ddots & \\ 0 & & \lambda_n \end{pmatrix}$$

$$T(v_i) = \lambda_i v_i \Rightarrow T^2(v_i) \stackrel{T=0}{=} \lambda_i^2 v_i$$

$$\Rightarrow \lambda_i^2 v_i \stackrel{\neq 0}{=} 0$$

$$\Rightarrow \lambda_i = 0$$

$$\Rightarrow \Delta u = 0 \quad u = 1, \dots, N$$

$$\Rightarrow \mathbb{B}(T) \mathbb{B} = \begin{pmatrix} 0 & & \\ & \ddots & \\ & & 0 \end{pmatrix}$$

$$\Rightarrow \mathbb{T} = 0$$

$$C_1 = c(-2, 1)$$

$$r = \frac{1}{2} + \frac{1}{4} + \frac{1}{4} = 1$$

$$C_2 = c(-2, 1)$$

$$r_c = \sum_{j=1}^2 |a_j|$$

$$C_2 = c(-4 + i, \frac{1}{2})$$

$$r = \frac{1}{8} + \frac{1}{8} + \frac{1}{4} = \frac{1}{2}$$

$$C_3 = c(-4 - i, \frac{5}{8})$$

$$r = \frac{1}{8} + \frac{1}{4} + \frac{1}{4} = \frac{1}{2}$$

$$C_4 = c(2, 1)$$

$$= \frac{5}{8}$$

$T$  no invertible  $\Rightarrow 0$  vap

$$\dim(N(T + 4I)) = 2 \Rightarrow \text{msg}(-4) = 2$$

$$\dim(\text{Im}(T - I)) = 3 \Rightarrow \dim(N(T - I)) = 2$$

$$\Rightarrow \text{msg}(1) = 2$$

$$\Rightarrow \chi_T(\lambda) = \lambda(\lambda + 4)^2(\lambda - 1)^2$$

$\Rightarrow T$  is diag.

$$D = \begin{pmatrix} 0 & & & & & \\ & 0 & & & & \\ & & -5 & & & \\ & & & -5 & & \\ & & & & 4 & \\ & & & & & 4 \end{pmatrix}$$

$\chi_T(1) = -6$

$$A^n = (P^{-1}SP)^n = P^{-1}S^n P \quad P^{-1}SP \quad P^{-1}SP$$

$$= P^{-1}S^n P$$

$$-T(x, y) = (-2x, y, 1 - x)$$

$$e_0(T)e = \begin{pmatrix} -2 & 1 \\ -1 & 0 \end{pmatrix}$$

$$\chi_T(\lambda) = \begin{vmatrix} -2-\lambda & 1 \\ -\lambda & -\lambda \end{vmatrix} = (\lambda+2)(\lambda+1) \\ = \lambda^2 + 2\lambda + 1 \\ = (\lambda+1)^2$$

$$\Delta = -1, \quad m_0 = 2$$

$$S_{-1} = \left( \begin{array}{ccc|c} -1 & 1 & 0 & 0 \\ -1 & 1 & 0 & 0 \end{array} \right)$$

$$P_{-1} \leftarrow \begin{array}{l} \leftarrow \\ \leftarrow \\ \leftarrow \end{array} \left( \begin{array}{c} 1 \\ 1 \\ 1 \end{array} \right) \leftarrow$$

$$S_{-1} = [1 \ 1] = 1 - S$$

$$T = B_{SM}$$

$$\left( \begin{array}{cc|c} 1 & 1 & 1 \\ 0 & 1 & 1 \end{array} \right) = T_C \leftarrow$$

$$S_{z^+} = \begin{pmatrix} -1 & 0 \\ 1 & -1 \end{pmatrix} z^+ = \begin{pmatrix} -1 z^+ & 0 \\ 2z^+ & -1 z^+ \end{pmatrix}$$

$$= \begin{pmatrix} -1 & 0 \\ 2 & -1 \end{pmatrix}$$

Base de Jordan  $\{v_1, v_2\}$

$$v_2 \in S_{-1}, \quad T(v_1) = -v_1 + v_2 \\ \Rightarrow (T - I)(v_1) = v_2.$$



$$v_2 \in S_{-1} \Rightarrow \text{Tomamos } v_2 = (1, 1)$$

$$(T + I)(v_1) = v_2 \quad P = \begin{pmatrix} 0 & 1 \\ 1 & 1 \end{pmatrix}$$

$$v_1 = (x, y)$$

$$\begin{pmatrix} -1 & 1 \\ -1 & 1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 1 \\ 1 \end{pmatrix} \rightarrow \begin{matrix} -x + y = 1 \\ -x + y = 1 \end{matrix}$$

$$x = y = 1$$

$$v_1 = (0, 1)$$

Calculate  $T^{-1}$

$$T^{-1} \begin{bmatrix} 5 \\ 1 \end{bmatrix} P(1,0) = T^{-27} (1,0)$$